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1. % — A7 (Figure 1)

2. 4B =pA7+ (Figure 2)

& — (Figure 1)

3. 4w =F7~ (Figure 3)

(10%)

4. 4o @ A7+ (Figure 4)

the result as a Cartesian vector (20%)

Cord BC remains horizontal due to the roller at C, and Cord AB has a length of 1.5 m. If y = 0.75 m,
what are the forces in Cord AB and Cord BC for equilibrium of the 200-kg crate? (20%)

Determine x and y components of F3 so that the horizontal system is in static equilibrium. (10%)
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F1=100N F2=60N
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Calculate the x and y coordinates of the center of mass if M1 = 5.6 kg, M2 = 8.1 kg, and M3 =2.3 kg.

Please determine the moment produced by force F about the diagonal AF of the rectangular block. Express
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B — (Figure 2)

F=|—6i + 3j + 10k] N
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B w3 (Figure 4)

REFHESHT FUEFOATHA



Byd Lk2 10 E25EEREALERAL-ERBEAEFREA

Hes# #HE [(RELARATHETE] T - 438004
MAHABKRMERL "I, EAHER (B HFH) (MEFRM) #2HF27

5. 4w ZAT~ (Figure 5)

The assembly consists of two red brass C83400 copper alloy rods AB and CD with diameter 30 mm, a

stainless 304 steel alloy rod EF with diameter 40 mm, and a rigid cap G. If the supports at A, C and F are
rigid, determine the average normal stress developed in rods AB, CD and EF. (20%)

6. 4@ AT+ (Figure 6)

The drum on the floor has a weight of 100 Ib and the coefficient of static friction is ps=0.5. If =3 ft and
b=4ft, determine the smallest magnitude of the force P that cause the impending motion of the drum.
(20%)

B & (Figure 5) & 75 (Figure 6)
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